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3.6 Appreciation and Depreciation

Ex. 1 A collectible action figure worth $100
increases in value by 20% each year.

a) Complete the table to
show the value at the end of
each year for 10 years.

b) Display the information from —
the table in a graph. .C°mtm;m°avon
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c) The intial value of the toy was each year.

d) Write an equation to model the toy's value, V, after t years.
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e) Use your equation to find the value after 15 years.
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The toy model is an example of appreciation.
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Appreciation

e the value increases over time
¢ the graph rises from left to right
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e the values in the table are getting bigger (added or multiplied by
a # greater than 1)
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¢ the initial value in an equation is added to or multiplied by a #
greater than 1.
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Depreciation

the value decreases over time
the graph falls from left to right
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¢ the initial value in an equation is subtracted from or
multiplied by a # less than 1.
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Ex. 2 A new set of winter tires worth $800
decreases in value by $50 for every month that

they are used.

a) Complete the table to
show the value at the end of
each month for 10 months.

b) Display the information from
the table in a graph.
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Communication
o title
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c) The intial value of the tires was . The value gets subtracted by S O each month.

d) Write an equation to model the tires' value, V, after t months.
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e) Use your equation to find the when the tires no longer have any value.
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The tire model is an example of depreciation.

{/\)ﬂ\w: goes DoWw "



3.6 Appreciation and Depreciation.notebook

Ex. 3 Describe the growth pattern represented by each model.

(appreciation or depreciation, linear or non-linear, how much does it increase/decrease for each time period)
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1 280
2 260
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d) Time (yr) | Value ($)
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9 \V=2000(0.85)

n V=150 + 25t
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